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Name: __________________________________



1
Given: [image: image1.png]flx) =



 and [image: image2.png]1
20)= g5+ 1




Four statements about this system are written below. 

I.   [image: image3.png]



II.  When [image: image4.png]


, [image: image5.png]Az = g(x)



. 

III. The graphs of [image: image6.png]


 and [image: image7.png]a(x)



 intersect at [image: image8.png]


.

IV. The graphs of [image: image9.png]


 and [image: image10.png]a(x)



 intersect at [image: image11.png]


.

Which statement(s) are true?

	1)
	II, only

	2)
	IV, only

	3)
	I and IV

	4)
	II and III



2
The functions [image: image12.png]


 and [image: image13.png]a(x)



 are graphed below. 

[image: image14.png]



Based on the graph, the solutions to the equation [image: image15.png]Az = g(x)



 are

	1)
	the x-intercepts

	2)
	the y-intercepts

	3)
	the x-values of the points of intersection

	4)
	the y-values of the points of intersection



3
The functions [image: image16.png]


 and [image: image17.png]a(x)



 are graphed on the set of axes below. 

[image: image18.png]><
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For which value of x is [image: image19.png]flx) = g(zx)



?

	1)
	[image: image20.png]




	2)
	2

	3)
	3

	4)
	[image: image21.png]






4
Two functions, [image: image22.png]


 and [image: image23.png]3x+ 3y




, are graphed on the same set of axes.  Which statement is true about the solution to the system of equations?

	1)
	[image: image24.png]


 is the solution to the system because it satisfies the equation [image: image25.png]


.

	2)
	[image: image26.png]


 is the solution to the system because it satisfies the equation [image: image27.png]3x+ 3y




.

	3)
	[image: image28.png]


 is the solution to the system because it satisfies both equations.

	4)
	[image: image29.png]


, [image: image30.png]


, and [image: image31.png]


 are the solutions to the system of equations because they all satisfy at least one of the equations.



5
The graphs of the functions [image: image32.png]


 and [image: image33.png]g(x)=2x+1



 are drawn.  Which statement about these functions is true?

	1)
	The solution to [image: image34.png]Az = g(x)



 is 3.

	2)
	The solution to [image: image35.png]Az = g(x)



 is 1.

	3)
	The graphs intersect when [image: image36.png]


.

	4)
	The graphs intersect when [image: image37.png]


.



6
If [image: image38.png]flx)=2x+46



 and [image: image39.png]g(x) = |x|



 are graphed on the same coordinate plane, for which value of x is [image: image40.png]Az = g(x)



?

	1)
	6

	2)
	2

	3)
	[image: image41.png]




	4)
	[image: image42.png]






7
Which value of x results in equal outputs for [image: image43.png]


 and [image: image44.png]b(x) = |x+ 2|



?

	1)
	[image: image45.png]




	2)
	2

	3)
	[image: image46.png]




	4)
	4



8
Given the functions [image: image47.png]! 3
)= 57+



 and [image: image48.png]F(x) = |x|



, which value of x makes [image: image49.png]


?

	1)
	[image: image50.png]




	2)
	2

	3)
	3

	4)
	[image: image51.png]






9
What is the total number of points of intersection for the graphs of the equations [image: image52.png]


 and [image: image53.png]


?

	1)
	1

	2)
	2

	3)
	3

	4)
	0



10
What is one solution of the accompanying system of equations?

[image: image54.png]



	1)
	[image: image55.png]




	2)
	[image: image56.png]




	3)
	[image: image57.png]




	4)
	[image: image58.png]






11
Which pair of equations would have [image: image59.png]


 as a solution?

	1)
	[image: image60.png]x+3




 and [image: image61.png]




	2)
	[image: image62.png]


 and [image: image63.png]




	3)
	[image: image64.png]


 and [image: image65.png]4x+6






	4)
	[image: image66.png]2x+ 3y



 and [image: image67.png]






12
The graph below shows two functions, [image: image68.png]


 and [image: image69.png]a(x)



.  State all the values of x for which [image: image70.png]Az = g(x)



.

[image: image71.png]9(x)

f(x)





13
Graph [image: image72.png]Ax) = |x|



 and [image: image73.png]o(x)=-x"+6



 on the grid below.  Does [image: image74.png]


?  Use your graph to explain why or why not.

[image: image75.png]




14
Graph [image: image76.png]


 and [image: image77.png]o(x) = —x° +6x+ 1



 on the set of axes below.

[image: image78.png]



Based on your graph, determine all values of x for which [image: image79.png]Az = g(x)



.

15
On the set of axes below, graph [image: image80.png]


 and [image: image81.png]


.

[image: image82.png]



Based on your graph, for how many values of x does [image: image83.png]Az = g(x)



?  Explain your reasoning.

16
On the set of axes below, graph[image: image84.png]



[image: image85.png]





How many values of x satisfy the equation [image: image86.png]Az = g(x)



?  Explain your answer, using evidence from your graphs.

1
ANS:
4

I.  [image: image87.png]fay=-3



 and [image: image88.png]


;  II.  [image: image89.png]


 and [image: image90.png]g(12) =4




REF:
062111ai

2
ANS:
3
REF:
081819ai

3
ANS:
3
REF:
081914ai

4
ANS:
3
REF:
011518ai

5
ANS:
2

[image: image91.png]


  [image: image92.png]=3+ 1=2x+1
k-3=2x




  [image: image93.png]extraneous



  [image: image94.png]x-3

E3

-2x





REF:
061622ai

6
ANS:
3

[image: image95.png]peG [I] X





REF:
012417ai

7
ANS:
2

[image: image96.png][+ 2| =3x-2
x42=3x-2
4=2x

x=2




REF:
081702ai

8
ANS:
1

[image: image97.png]=%+ 3= |x]




  [image: image98.png]—x-6=2x

-3x-3=x

~6=3x




REF:
011617ai

9
ANS:
1

[image: image99.png]


.  [image: image100.png](0,0).



  [image: image101.png]patersection



  [image: image102.png]



REF:
080611b

10
ANS:
3

[image: image103.png]



REF:
060706b

11
ANS:
3

[image: image104.png]D -3-1)-2=2




, [image: image105.png]4-1)+6=2





REF:
011918ai

12
ANS:


[image: image106.png]



REF:
081630ai

13
ANS:


[image: image107.png]


  Yes, because the graph of [image: image108.png]


 intersects the graph of [image: image109.png]a(x)



 at [image: image110.png]


.
REF:
011733ai

14
ANS:


[image: image111.png]


  [image: image112.png]



REF:
062333ai

15
ANS:


[image: image113.png]


[image: image114.png]Az = g(x)



 for one value of x because the graphs intersect once.
REF:
062234ai

16
ANS:


[image: image115.png]>
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  1, because the graphs only intersect once.
REF:
061636ai

